
AA2  úNd.h - 2018 ckjdß

Y%S ,xld .KldêlrK Ys,amSh wdh;kh

m%Yak iy fhdað; W;a;r

Wiia uQ,H .sKqïlrKh
(AFA)

úIh wxl (AA21)

YS% ,xld .KldêlrK Ys,amSh wdh;kh

wxl 540" mQcH uqre;af;Ügqfõ wdkkao kdysñ udj;"

kdrdfyakamsg" fld<U 05'

ÿrl:k : 011-2-559 669

fuh wOHdmk yd mqyqKq lsÍï wxYfha m%ldYkhls'



AA2 / AFA Wiia uQ,H .sKqïlrKh01

										        

									                 A fldgi
jdia;úl mÍlaIK m%Yak (OTQs)
wksjd¾h m%Yak wg ^07& ls'

(uq¿ ,l=Kq 20)

1 jk m%Yakh i|yd fhdað; W;a;r 

1.1	 laIh	 =	 (1,000,000 - 100,000) / 5
		  =	 180,000
	 jirlg miqj OdrK w.h	 =	 1,000,000 - 180,000
		  =	 820,000
		
	 W;a;rh (3)

1.2	                                                Kh.e;s md,k .sKqu

	 fYa$b$f.	 130,000	 uqo,a	 686,400
	 úl=Kqï	 738,800	 jÜgu	 1,400
			   fYa$m$f.	 181,000
		  868,800		  868,800

	 W;a;rh (3)

1.3	 úl=Kqï		 2,462,500    		  ⟶	 100%
	 úl=Kqï msßjeh

	 wdrïNl f;d.h		 670,000
	 .ekqï		 1,840,000
	 wjidk f;d.h		 (540,000)	 (1,970,000)	 ⟶	 80%
	 o< ,dNh			  492,500	 ⟶	 20%

	
	 W;a;rh (2)

1.4	 W;a;rh (4)

YS% ,xld .KldêlrK Ys,amSh wdh;kh
wOHdmk yd mqyqKq lsÍï wxYh
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fhdað; W;a;r
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1.5	
		                                                VAT md,k .sKqu

	 .ekqï (1,777,900 x 15%)	 266,685	 fYa$b$f.	 22,500
	 fYa$m$f.	 496,806	 úl=Kqï (4,939,940 x 15%)	 740,991
		  763,491		  763,491

	 W;a;rh (1)
	
1.6	 (a) jirlg wju 5] l fmd,shla hgf;a Kh i|yd fmd,sh wod< fõ'

	 (b) yjq,a jHdmdrfha l<ukdlrKhg yjq,alrejkag odhl úh yelsh'

	 (c) ,dN iy w,dN iudkj fnod.; hq;= ùu

1.7	

	 wdrïNl fYaIh	 600 @ 140		  =	 84,000
	 .ekqï	 400 @ 220		  =	 88,000
	 ksl=;a lsÍï (FIFO l%uhg)	 600 @ 140		  =	 (84,000)
		  150 @ 220		  =	 (33,000)
	 .ekqï	 300 @ 245		  =	 73,500
	 wjidk f;d.h (250 x 220 + 300 x 245)				    128,500

(uq¿ ,l=Kq 20)

02

A fldgfiys wjidkh'
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										           B fldgi
wksjd¾h m%Yak my ^05& ls'

(uq¿ ,l=Kq 25)

2 jk m%Yakh i|yd fhdað; W;a;r 

(a)
			               	iS$i fglaia .dukaÜia ^fm!oa'& iud.u

                           2017 foieïn¾ 31 Èkg .,mk ,o uqo,a fmd;                     re'

	 fYa$b$f.	 136,240	 fplafmd;a .dia;=	 500
			   nexl= .dia;=	 13,670
			   ia:djr ksfhda.	 69,000
			   fYa$m$f.	 53,070
		  136,240		  136,240

(,l=Kq 03)
(b)
		         
	 iS$i fglaia .dukaÜia ^fm!oa'& iud.u

	 2017'12'31 Èkg

	 nexl= iei÷ï m%ldYkh

	 úia;rh		  + / -	 fYaIh 

			                                                                                    re.

	 .<mk ,o uqo,a fmd;g wkqj fYaIh			   53,070

	 (+) ksl=;a l< kuq;a f.ùug bÈßm;a fkdjQ fpla :

		  637102 - l=,sh		  125,540

		  637104 - Khysñfhda		  52,480	 178,020

	 31.12.2017 Èkg nexl= m%ldYkh wkqj fYaIh		  231,090

(,l=Kq 02)
(uq¿ ,l=Kq 05)
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3 jk m%Yakh i|yd fhdað; W;a;r

	 fmdÿ c¾k,h

		  úia;rh		  yr	 ner

	 jegqma iy fõ;k .sKqu ^uQ,sl jegqm&	 yr	 8,700,000

	 jegqma iy fõ;k .sKqu ^§ukd&	 yr	 5,400,000

1)		  f.úh hq;= Kh .sKqu	 ner		  2,300,000

		  f.úh hq;= fiajl w¾:idOl wruqo,a .sKqu	 ner		  696,000

		  f.úh hq;= jegqma .sKqu	 ner		  11,104,000

	 (udifha jegqma igyka lsÍu)

	 fiajl w¾:idOl wruqo,a .sKqu	 yr	 1,044,000

	 fiajl Ndrldr wruqo,a .sKqu	 yr	 261,000

2)		  f.úh hq;= fiajl w¾:idOl wruqo,a .sKqu	 ner		  1,044,000

		  f.úh hq;= fiajl Ndrldr wruqo,a .sKqu	 ner		  261,000

	 (f.úh hq;= fiajl w¾:idOl wruqo,a iy

	 fiajl Ndrldr wruqo,a igyka lsÍu)

	 f.úh hq;= fiajl w¾:idOl wruqo,a .sKqu	 yr	 1,740,000

	 f.úh hq;= fiajl Ndrldr wruqo,a .sKqu	 yr	 261,000

	 f.úh hq;= jegqma .sKqu	 yr	 11,104,000

3)	 f.úh hq;= Kh .sKqu	 yr	 2,300,000

		  uqo,a .sKqu	 ner		  15,405,000

	 (jegqmg wod< úhoï iy Kh jdßl f.ùu 

	 igyka lsÍu)

(,l=Kq 05)
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4 jk m%Yakh i|yd fhdað; W;a;r

(a)

	 wu,a fÜ%v¾iays

	 Kh.e;s md,k .sKqu

	 fYa$b$f.	 1,780,000	 uqo,a	 3,950,000
	 úl=Kqï	 4,800,000	 fnd,aKh	 70,000
			   fYa$m$f.	 2,560,000
		  6,580,000		  6,580,000

(,l=Kq 03)

(b)		                                                                wu,a fÜ%v¾iays

Khysñ md,k .sKqu

	 jÜgu	 250,000	 fYa$b$f.	 2,350,000
	 uqo,a	 4,050,000	 .ekqï	 6,100,000
	 fYa$m$f.	 4,150,000
		  8,450,000		  8,450,000

(,l=Kq 02)
(uq¿ ,l=Kq 05)
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5 jk m%Yakh i|yd fhdað; W;a;r

	 c¾k,a igyka			   yr	 ner

	 lS¾;skdu .sKqu		  yr	 930,000
	    m%d.aOk .sKqu	 - A	 ner		  372,000
		  - B	 ner		  279,000
		  - C	 ner		  279,000
	 (lS¾;skduh igyka lsÍu)

	 m%d.aOk .sKqu	 - A	 yr	 465,000
		  - C	 yr	 465,000
	    lS¾;skdu .sKqu		  ner		  930,000
	 (lS¾;skduh fjkia ùu igyka lsÍu)

	 fudag¾ r: .sKqu		  yr	 300,000
	    m%;Hd.Kk .sKqu		  ner		  300,000
	 (fudag¾ r: m%;Hd.Kkh lsÍu igyka lsÍu)

	 m%;Hd.Kk .sKqu		  yr	 300,000
	   m%d.aOk .sKqu	 - A	 ner		  120,000
		  - B	 ner		  90,000
		  - C	 ner		  90,000
	 (m%;Hd.Kkh" m%d.aOk .sKqïj,g udre lsÍu igyka lsÍu)
	

(,l=Kq 05)
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6 jk m%Yakh i|yd fhdað; W;a;r

(a)	

	 merKs fudag¾ r:h úlsKSfuka ,o uqo,		  2,000,000

	 (wvql<d) 	- Y=oaO fmd;a w.h

		  fudag¾ r:fha msßjeh	 3,200,000

		  (-) iuqÉÑ; laIh (jir 2)	 (1,600,000)	 (1,600,000)

	 bj;a lsÍfï ,dNh		  400,000

(,l=Kq 03)

	 úl,am W;a;rh

bj;a lsÍfï .sKqu

	 msßjeh	 3,200,000	 uqo,a	 2,000,000

	 ,dNh	 400,000	 laIh	 1,600,000

		  3,600,000		  3,600,000

(b)		 j¾Ih i|yd laIh

		  merKs fudag¾ r:h	 3,200,000 x 25% x 3/12	 = 200,000

		  kj fudag¾ r:h	 4,500,000 x 25% x 6/12	 = 562,500

		  tl;=j		  = 762,500

(,l=Kq 02)

(uq¿ ,l=Kq 05)

07

B fldgfiys wjidkh'
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										          C fldgi
 
wksjd¾h m%Yak ;=k ^03& ls'

(uq¿ ,l=Kq 30)

7 jk m%Yakh i|yd fhdað; W;a;r

(a)

wjkayf,a fjf<| .sKqu

	 úl=Kqï		  14,700

		  (-) úl=Kqï msßjeh

		  wdrïNl f;d.h	 3,200

		  .ekqï (fmrjev 01)	 7,400

		  wjidk f;d.h	 (2,600)	 (8,000)

		  o< ,dNh		  6,700

fmrjev:
fmrjev 01

Khysñ .sKqu

	 uqo,a	 7,200	 fYa$b$f.	 1,200

	 fYa$m$f.	 1,400	 .ekqï	 7,400

		  8,600		  8,600

(,l=Kq 03)

08

(re. ’000)

(re. ’000)
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(b)	 yemS lS%vd iudcfha	
	 2017'12'31 ka wjika j¾Ih i|yd

	 wdodhï iy úhoï .sKqu

	 wdodhï: (fmrjev 02)
	 idudðl uqo,a		  26,200
	 mß;Hd.		  7,500
	 l=,S wdodhu		  8,200
	 wjkayf,a ,dNh (6,700 - 1,200)		  5,500
					     47,400
	 úhoï:
	 f,aLk lghq;= úhoï		  600
	 ,smsøjH yd uqøK (fmrjev 04)		  1,800
	 laIh - lS%vd WmlrK (fmrjev 03)		  15,000
	 úúO úhoï		  5,100	 (22,500)
	 jif¾ w;sßla;h			   24,900

fmrjev 02
idudðl uqo,a .sKqu

	 fYa$b$f.	 600	 fYa$b$f.	 400

	 wdodhï iy úhoï	 26,200	 ,eîï iy f.ùï	 26,300

	 fYa$m$f.	 200	 fYa$m$f.	 300

		  27,000		  27,000

fmrjev 03
lS%vd WmlrK .sKqu

	 fYa$b$f.	 54,000	 laIh	 15,000

	 uqo,a	 18,000	 fYa$m$f.	 57,000

		  72,000		  72,000

	 fYa$b$f.	 57,000

fmrjev 04
,smsøjH .sKqu

	 uqo,a	 1,500	 fYa$b$f.	 500

	 fYa$m$f.	 800	 ,dNd,dN .sKqu	 1,800

		  2,300		  2,300

(,l=Kq 07)
(uq¿ ,l=Kq 10)

(re. ’000)

(re. ’000)

(re. ’000)

(re. ’000)
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8 jk m%Yakh i|yd fhdað; W;a;r

(a)	 .eó lf,laIkaia ys

	 2017.03.31 Èkg 

	 fYaI msßlaiqu			 

	 úia;rh		  yr	 ner

	 ld¾hd,Sh WmlrK		  495,000

	 laIh (550,000 - 495,000)		  55,000

	 f;d.h		  180,000

	 fjf<| f.úh hq;= oE			   282,000

	 WmÑ; úÿ,sh			   3,000

	 m%d.aOkh (550,000 + 192,000 + 230,000 + 300,000 - 160,000)		  1,112,000

	 úl=Kqï (fmrjev 04)			   738,000

	 úl=Kqï msßjeh (fmrjev 03)		  492,000

	 w;e;s uqo,a (fmrjev 01)		  244,000

	 nexl=fõ we;s uqo,a (fmrjev 02)		  498,000

	 fõ;k		  90,000

	 .eks,s		  10,000

	 úÿ,sh (13,000 + 3,000)		  16,000

	 wfkl=;a úhoï		  55,000

	 jif¾ w;sßla;h		  2,135,000	 2,135,000

fmrjev :

fmrjev 01 

w;e;s uqo,a .sKqu

	 fYa$b$f.	 230,000	 fjf<| f.úh hq;= oE	 168,000

	 úl=Kqï (fmrjev 04)	 738,000	 fõ;k	 90,000

			   .eks,s	 10,000

			   nexl=	 456,000

			   fYa$m$f.	 244,000

		  968,000		  968,000

10
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fmrjev 02

nexl=fõ we;s uqo,a .sKqu

	 fYa$b$f.	 300,000	 fjf<| f.úh hq;= oE	 190,000

	 uqo,a	 456,000	 úÿ,sh	 13,000

			   wfkl=;a úhoï	 55,000

			   fYa$m$f.	 498,000

		  756,000		  756,000

fmrjev 03

fjf<| f.úh hq;= oE .sKqu

	 uqo,a	 168,000	 fYa$b$f.	 160,000

	 nexl=	 190,000	 .ekqï	 480,000

	 fYa$m$f.	 282,000

		  640,000		  640,000

fmrjev 04

	 úl=Kqï:

		  wdrïNl f;d.h	 192,000

		  .ekqï (fmrjev 03)	 480,000

		  wjidk f;d.h	 (180,000)

	 úl=Kqï msßjeh	 492,000

	 úl=Kqï (492,000 x 150%)	 738,000

(,l=Kq 10)



AA2 / AFA Wiia uQ,H .sKqïlrKh

9 jk m%Yakh i|yd fhdað; W;a;r

(a)

uEâ yjq,a jHdmdrfha

2017.03.31 Èfkka wjika j¾Ih i|yd

,dNd,dN úi¾ck .sKqu

	 Y=oaO ,dNh			   3,000,000

	 úi¾ckfha § whs;Ska

	 m%d.aOk fmd,S	 - ukQ	 (960,000)

			   - wkQ	 (480,000)

			   - okQ	 (720,000)	 (2,160,000)

	 jegqma		  - ukQ	 (360,000)	 (360,000)

					   

	 ,dN fldgi	 - ukQ	 (240,000)

			   - wkQ	 (144,000)

			   - okQ	 (96,000)	 (480,000)

					     0

(b)

yjq,alrejkaf.a cx.u .sKqï

ukQ wkQ okQ ukQ wkQ okQ

fYa$b$f. - 400 - fYa$b$f. 1,000 - -

.eks,s 300 200 100 m%d.aOk fmd,S 960 480 720

jegqma 360 - -

fYa$m$f. 2,260 24 716 ,dN fldgi 240 144 96
2,560 624 816 2,560 624 816

	

(,l=Kq 10)

(re. ’000)

12
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(a) 	 iSudiys; ,lS fm!oa.,sl iud.u

	 2017.03.31 Èfkka wjika j¾Ih i|yd 
	 ,dNd,dN iy fjk;a úia;SrK wdodhï m%ldYkh						    
	 		  re'	 re'

	 úl=Kqï		  463,600
	 úl=Kqï msßjeh (265,500 + 800)		  (266,300)
	 o< ,dNh		  197,300

	

	 fnodyeÍfï úhoï

	 fnd,a Kh		  (1,500)
	 wvudK Kh i|yd W!K m%;smdokh	 (475)
	 fmdÿ úl=Kqï úhoï (51,700 + 800)	 (52,500)	 (54,475)

	 mßmd,k úhoï

	 f.dvke.s,s laIh (50,000 / 25,000)	 (2,000)
	 ld¾hd,hSh WmlrK laIh (40,000 / 10)	 (4,000)
	 fmdÿ mßmd,k úhoï (68,000 - 120)	 (67,880)	 (73,880)
	
	 uQ,H úhoï

	 Khlr fmd,S	 (2,400)	 (2,400)

	 nÿ fmr ,dNh		  66,545

	 nÿ (fmrjev1)		  (3,500)
	 nÿ miq ,dNh		  63,045

(,l=Kq 10)

13

										          D fldgi
tla wksjd¾h m%Yakhls'

(uq¿ ,l=Kq 25)

10 jk m%Yakh i|yd fhdað; W;a;r
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(b)	 iSudiys; ,lS 13 ^fm!oa.,sl& iud.u

	 2017.03.31 Èkg

	 uQ,H ;;a;aj m%ldYkh			   (re. ’000)

		  msßjeh	 iuqÉÑ; laIh	 OdrK w.h

	 cx.u fkdjk j;alï

	 bvu	 30,000	 ---	 30,000
	 f.dvke.s,s	 50,000	 (7,000)	 43,000
	 ld¾hd, WmlrK	 40,000	 (29,000)	 11,000
		  120,000	 36,000	 84,000
	 cx.u j;alï

	 f;d.h		  59,200
	 fjf<| Kh.e;sfhda (43,000 - 1,500)	 41,500
	 (-) wvudK Kh fjka lsÍï	 (2,075)	 39,425
	 l,ska f.ùï		  120
	 nexl=fõ uqo,a		  1,000	 99,745
	 uq¿ j;alï			   183,745

	 ysñlu iy j.lSï

	 m%ldYs; m%d.aOkh 		  32,000
	 r|jd.;a bmehqï (63,045 + 12,000)		  75,045	
	 uq¿ ysñlu			   107,045

	 cx.u fkdjk j.lSï

	 12% Khlr		  20,000	 20,000
	
	 cx.u j.lSï

	 fjf<| f.úh hq;= oE		  50,900
	 WmÑ; Khlr fmd,S		  1,200
	 WmÑ; úhoï		  800
	 f.úh hq;= nÿ		  3,800	 56,700

	 uq¿ ysñlu iy j.lSï			   183,745

(,l=Kq 15)

fmrjev 1    nÿ

	 m%j¾;k j¾Ifha nÿ	 3,800

	 wê fjka lsÍï (3,500 - 3,200)	 (300)

		  3,500

(uq¿ ,l=Kq 25)

D fldgfiys wjidkh'
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designed especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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